Dividere per 10,100 e 1.000

2 ) ) 0 ) g

Calcola in modo rapido.

320010 = coccuaua
8.300:100 = ...
4.000:1000= ...

........................

4700:100 = ...

30:10=

7.600:100 = ...
SBODIIDE Loy
2,000 1.000 = vicics
840:10 =

Completa inserendo il numero che manca.

1007 100= s

L3005 =13 4300 % s = 43 (10 3 QUES— =18
760 : .. =76 750 : .. =75 6400: .....wim.. =640
6.400: ... = 640 700 ;.. =7 1840: ... =184
1000= 6 +1.000= 1 10= 869
10= 38 :100= 9 100= 95
........................ 100= 83 :100= 65 1000= 4
Completa le tabelle
. 10 500 30 5.600| 9.000| 430 300 | 740 40 80 1.000
. 100 800 | 1.300 | 9.000| 900 | 1.000 | 100 200 [4.000 [6.000 | 2.400
. 1000 8.000( 6.000 | 2.000 | 7.000| 4.000 | 5.000 | 1.000 |3.000 |9.000

toLIVEWORKSHEETS



